Shedl s> 1> 1 (w0 049 Sslael adlll
aclw uwd il jgaioll

V6.5 :JaVl ¢ il

J1(25-2) [ﬁ—zf ;(2ﬁ_5)(2ﬁ+5);gﬂuz~uﬁ\ 1

11-4J7  2aad i isiad 2

ax% -3 Ix+2J7 ; J42x+/28 b ldee 3
U6.5: 5 LI 0l

J70x/28x 10 ; 3J12-5\27+2J75 ; \/% ehlehw 1
2
38 -2./50 +4+/98 : {—1%} : x/32+\/1_02+\/52

2 1. o
NN S G
4x2—3=0 : x2=—15 Al ds 3
U5.5: GJUJI (ol
2 58 2 (8]% 04 45
(V7)) 5 B (8 10t 00 e

0,00000000000452  :dgale 4L daall (S) 2
asz—3x(a‘3xb)72

7 2ol b 3
a3><(b3><a2j xb-1

U1.5: 00l (ol

J3+5 x \/ 24415 % \/2—«/1+\/§ RSN




